4.1 Arithmetic Sequences

eneralize the sequence, Identifir whether it 1= a commeon difference and use sybols to express the
generaiizaton

Emample — 5, 10, 15, 20, 25, 30, ... Answer Adding &, d="5
13 30, 40, 50, &0, 70, B0, 90, .. AnTWer
22,3,4,567, ATISWET
3)-3,-7,-11,-15,-1%9,-23, -27, 31, ... ATITWET:
4)90, 110, 120, 150, 170, 190, 210, 2320, ... ATV ET:
£}-2,-4,-6,-8,-10,-12,-14, -15, -18, -20, .., AnSWeT:

Identify the Gs, ae, and @15 terms in each segquence

°) 30, 40, 50, &0, 70, B0, 90, ...

7) ‘243!415!54?!”

8) |-3,-#,-11,-15,-19,-23, -27,-31, .

) 40,110,130, 150, 170, 190, 210, 230, ..

10) |-2,-4,-6,-8,-10,-12, -14, -16, -18, -20, ...
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Write the recursive formulz for each sequence, Formula-; = 8, =@y T d
11) 130,40, 50, &0, 70, 80, 90, ...

12) 123456 7, w

13) y-3,-7,-11,-15,-19,-23, -27, -31, ..

14) 190, 110, 130, 150, 170, 190, 210, 230, ...

15) -2,-4,-6,-8,-10,-12, -14, -16, -18, -20, ...

Write the explicit formula for each sequence and find . Formula:- a, = dn+ay,

16) | 30, 40,50, 60, 70, BO, 90, ...

17) }2,3,4,5,6,7,

18) -Er -?J -IL -IEJ -191 -231 -E?J -EL ]

19) |90, 110, 130, 150, 170, 190, 210, 230, ..
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20) _3 _4,.5,-8,-10,-12, -14, -16, -18, -20, ...

21

22

Using the recursive formula, find the explicit formula

) 1@y =4,8s =Gn-1—5

) @3 =—2, 0, =0, T7

23) @y =3 Gy =y T11

24

25

26

Using the explicit formule, find the recurstve formula

)--u,l=4n-]-5
) 1@y =8Bn—9

27) @, =—100n+ 50
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